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Guess Paper – 2010

Class – XII

Subject –Mathematics  

Time allowed: 2 Hours





Maximum Marks: 50

General Instructions :

(i) All questions are compulsory.

(ii)
Question numbers 1 to 8 are very short answer type questions. These questions carry one mark each.

(iii)
Question numbers 9 to 14 are short answer type questions and carry four marks each.

(iv)
Question numbers 15 to 17 are long answer type questions and carry six marks each. 

1. Find the values of a, b, x and y for which the following matrix is a scalar matrix.
(1)
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2. Find the inverse of the matrix 
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 by determinant method.


(1)
3. Let P = [Pij]3(3 be a matrix such that 
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(1)
4. Find the principal value of 
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(1)
5. Show that 
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(1)
6. Is (: N ( N ( N, defined by 
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7. If
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(1)
8. Define empty relation and universal relation. Give examples.



(1)
9. Find the matrix X such that [image: image9.wmf]021221
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(4)
OR
Prove that [image: image10.wmf]111
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(4)
10. Check whether the relation R, defined in the set P (X), i.e., power set of X = {1, 2, 3, 4, 5}, as R = {(A, B): A ( B}, is reflexive, symmetric or transitive. 




(4)
OR
By using properties of determinants, prove the following
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 (4)
11. Using determinants, find the area of quadrilateral ABCD whose vertices are A (–1, 1), B (0, –2), C (6, 1) and D (5, 6).








             (4)
OR
Find the inverse of the matrix [image: image12.wmf]321
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by elementary operation.


  (4)
12. Check whether the binary operation (: Z ( Z ( Z, defined by a ( b = a + b – 2, is commutative or associative. Is there any identity for this binary operation?


                      (4)
13. Solve [image: image13.wmf]11
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(4)
14. Express the matrix 
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as the sum of a symmetric and a skew symmetric matrix.











(4)
OR
A function f : Z ( Z( is defined as f (x) = 6 – 2x, where Z( is a set containing all even integers and 0.

Show that f is one to one, onto, and hence, find f –1.
Also, verify that [image: image15.wmf]11
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(4)
15. Prove that 
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(6)
16. Solve the following system of linear equations by matrix method


(6)
2x – y + z + 3 = 0

x + 2y – z – 12 = 0

3x + y + 2z – 1 = 0
17. Two real valued functions f and g are defined as f(x) = e2x, g(x) = x – 3.

Show that the functions 
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are one to one and onto, and thus find their inverse.
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